SPECIFICATIONS No. 280

16" 9" WATERLINE SLOOP

IN GENERAL:

In carrying out theas apeclifications, 1t is understood that
all vorimanship and materiazls shall be the best procurable of theip
kind, and that stock shall bs well semascned and fres from defacts,

The specifications and drawings are intended to cooparate,
o0 that any worls exhibited in the drawinge and not mentioned in thase
specifications, or vice versa, are to be sxscutsd the sama as 1f they
wore mentioned in thess specifications and set forth in the drawings,
to the true meaning and intention of these specificationa and drawings,
without any extra charge whatever,

Ho changes are to be made in either the plans or specifications
without the written consent of the Architect or Owner,

DIMENSICHS: Length on Deck.....19' &"
— Length Wateriine,,.l6' 9"
L A i
Drafteecieccesnsaes 20 1" |
FOURDATTION: Of Oak, aided as per rabbet, molded as slown. Mor-
tised to receive heels of frames. Faylng surfaces paintad;with anti-
fouling peint and sutabla bedding compound, Bolting to be galvanized
iron, of aires as ¢alled for on Construction Plan.
BRAMES : 0f cloar, straight-grained cak, 1-1/4" aquars,
stesmed and bent into place, spmoed §" center to esnter. Heels of framss
mortised to keel and bolted to floor timbers with two /4" dia. galvanised
oarriage bolts, .
FLOOR TIMRERY : , Of Oak, generally 1.1/2" thick, fastened to foundation
with 3/8" dia. galvepized ho_;tu, two to sach floor i{n the widest part of
keel and single 3/8" dia. bolt forward and aft., Heela cf frames fastenasd

to floor timbera with two 1/L" dia. galvanized carriage bolts.

LIMBERS t Throughout length of bost. Bottom to be run with _
boat plteh to helght of all limbers, ' :
STERR THARIOM: Of Pine. Planks to be 1™ thick and not ovaer on

wide. Pashion pleces of 1-1/2" thick oak. Stern to be flat.

BILGET STRINGERS: One samch side, 1-1/4" x 3", oak or hard pine.

Pastened at every frame with one 2-1/2" #16 flat head galvanized ncrau,s'
staggered haade not bunged. Stringers to be full sectional ares for one=half

their middle length, and tapered to 1" x 3" at ende.



Mg_: Cak or Fard Pine, 1-1/2" x 3", Taper dus to beveling

to come ocut of these dimensions. Bolted through every frame with 1/}" dia.
galvanized carriage bolt., Lower inside edge to be slightly beveled or rounded.
FLANKING: Pine or Cedar, tc finlsh 1" thick. Butts bolted with :.l/,*'
dis, galvanized stove bolts with countersunk head, Planking toc show a

tight nesm inside and caulking seam of 1/16" outside. P:aten.lngl to be

1-3/4" #12 galvanized screws, bunged.

BUTT BLOCES1 Ouk, 1" thiek.
DECK BEAMS ! Oak, spaced gonarnni' 9" genter tc center, Main beama

1-3/4" x 1-3/4". Auxiliary besms aided 1-1/8", moulded 1-3/L",

Falf beams sided 1", moulded 1-3/4", Sawed to orowm of 4" in 8,

Main beams fastened to olamp with 1/L4" dia. galveniszed bolt, and otber Lesms
faatensd with 1/4" dia, galvaniged bolts.

DECK BLCCES ¢ oak, 1-1/2" thick, under all deck fittings.
TIE ROD3; 5/16" dia. galvenized. ‘Two under main deck sach side of

house; two under main desk eaach 8ide of cockpit. One from deck to step
3/8% dia, at mast,

WAIN DECK: 1/2" thiok 5-ply waterproof plywood, soversd with Celastic.
CROCK RAIL: Oalk, 1" x 1", Fastened into sheerztrake with

2-1/4" x #12 galvaniszed screws. Scupparsd at lowest pl‘{t of sheer.

HULL CEILING: 5/16" pine, with edges rounded.

RUDDER: Rlade of 1-1/2" oak, tapered to 1" st trailing edge.

bolted with 3/8" dia. galvanized.

RODDER OUDGEQNS : 'l'h:'rea sets as shown, of caat Manganese bronze,

TILLER: of oak, fastensd to rudder with two bronze straps of 1/8"
thick bronz;. - '

POUSE SIDES & CCCEPIT COAMING: Oak, 7/8" thick, thrzugh bolted to afll
with 1/4" dia. galsanized bolts spaced about 12",

COCKPIT FLOOR: 1/2" plywsod covered wWlth Celastic.

COCKPIT SCUPPERS:1-1/2" dia. lead pips, nlng.od top and bottom, and

both flanges btronss sarew fastened.

COCKPIT FLOOR BEAMS: Qak, 1" x 2", spaced 9" centsr to center,

FATCH TC ENGINBE: Osk ooemings and 1/2" fiy G-ply waterproof plywood top,

coveared with Celastic.



COCRPIT COAMIKG CAP: 3/L" x 1-3/8" Oak, with only mbout 1/8" nosing

on inaide. 5
HOUSE . TOP!: 1/2% thiek S5-ply waterproof fir plywood, caveresd with
Calastis. Paatenings 1-1/4" #8 galvanired nails.

HOUSE BEAMS : Laminated oak, sided 7/8" and molded 1-1/L", spaced

sbout 8" c. to c. There will be a heavy beam, 1-1/4" x 1-1/4", at
companionway siide, Psams to crowm &=1/4™ im 7',

HOUSE BEAM CLAMP: o0Oak, 1-1/4" x 1-3/k",

MOULDING AFD UND FOUSE: 7/8" half round of oak,

COMPANIONWAY SLIDE: Of 3/4" thick oak, splined and gluad with Caacophen
glus, PRundaof 1-1/L" oak.

CENTEHBCARD! Of omk 1" thick, with 24-1bs, of lead run into it to sink it.
CENTERBOARD LOGS: 0f osk, as shown, 2-3/14" thick, and height to

tnderside of cabin floor. Fleor timbers dovetailed into logs.
CENTERBOARD BOX: Sides of 1-1/4" pine, splined and glusd. S5/16* dia,
galvanized bolts to extend from bottem of keel to top of C.B. Box aides.
CENTERDOARD POSTS: ¢f oak.

CENTERROARD BOX TCP: of 5/3" oak.

BITT POPWARD! Osk or loecust, 3" x 3", with 3/8" dia. x T" long brenze

PAPTLIGHTS Two fixed ports of 3/16" thick plats glass, ons each
side of cabin trunk, glaxed watertight.

SPARS! Of 3itka spruce, box ssction. Main mast hollow, other
spars sclid., Bowsprit of‘spruse, flat plank type,

SPAR TRON WORK: 'f’urn.lahed by Owner and installed by Builder.

PLACKS, TURNGUUCKLES & DECK FITTINGS: Purnishad by Qwner, installad by

Builder,

CHATNPLATFES : Of cast Mangansse bronze. Installed on ocutaide of
planiing. '

BOBETAY PLATES: Tobin or Naval bronze plate, or cast Msnganeae brongs.,
STANDING RIGGING: Furnished by Owner and installed by Builder.

RONNING RIGGTNO: Purnishsd by Owner, and rove off, apliced and whipped

by Ruilder.



